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Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947022095 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary stage of promoting the learning in a child is

Options :
Imitation
1. ¢
Instinct
Motivation
3 %
Conditioning
4, %

Question Number : 2 Question Id : 54947022096 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

A good teacher is one who

Options :
gives useful information
1. ®
gives notes to students
2. %
explains concepts and principles
3. %
inspires students to learn
4. ¢

Question Number : 3 Question Id : 54947022097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest contribution of the sensory organ in effective learning belongs to

Options :

sense of touch

sense of hearing



sense of taste

sense of seeing
4. &

Question Number : 4 Question Id : 54947022098 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The classroom communication should essentially be

Options :
Abstract
1 ®
Empathetic
2.4
Non-descriptive
3. %
Contrived
4. %

Question Number : 5 Question Id : 54947022099 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the highest level of cognitive ability?

Options :

Knowing
1. ®

Understanding
2. %

Analyzing
3. %

Evaluating

4. v

Question Number : 6 Question Id : 54947022100 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is NOT a component of effective teaching.

Options :

Questioning to check for the understanding of students

Providing students with feedback
2. %



Being flexible about how long it takes to learn

Reactive mode of students” behavior
4.«

Question Number : 7 Question Id : 54947022101 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

SWAYAM refers to :

Options :
Study World of Action-Learning for Young Aspiring Minds
1. ®
Study Webs of Active-Learning for Young Aspiring Minds
2.¢
. Student World of Action-Learning for Young Ailing Minds
3.
Study Webs of Active-Learning for Youth Awareness Models
4.%

Question Number : 8 Question Id : 54947022102 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the main purpose of using ICT for class room teaching is
fo

Options :

Keep students engaged in the class

1%
Divert student’s attention in the class
2. %
Optimize learning outcomes of teaching
3.¢
Make the classroom instructions are interesting
4. %

Question Number : 9 Question Id : 54947022103 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GUI stands for

Options :

Graphical User Interference

Graphical User Interface
2.



Graphical User Identifier

Gaming User Identifier

Question Number : 10 Question Id : 54947022104 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following be the true evaluation of the students if possible?

Options :

Formative
1. %

Evaluation at the end of the course
2. %

Evaluation twice in a year
3 %

Continuous evaluation

4.

Question Number : 11 Question Id : 54947022105 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Teaching in Higher education implies

Options :
Presenting the information given in the text book
1 ®
Asking questions in the class and conducting examinations
2. %
Helping students to prepare and pass the examinations
3. %

Helping students to learn
4. ¢

Question Number : 12 Question Id : 54947022106 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary task of a teacher is
Options :

To teach the prescribed curriculum

To stimulate and guide students learning
2. ¥



To provide diagnostic and remedial is aid wherever desired

To promote habits of conformity to adult demands and expectations

Question Number : 13 Question Id : 54947022107 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the aims of scientific method in research 1s to

Options :

Improve data interpretation
1 ®

Eliminate spurious relations
2.¢

Introduce new variable
3. %

Conform triangulation
4. %

Question Number : 14 Question Id : 54947022108 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is NOT a characteristic of research?

Options :

Research is symmetric
1 ®

Research is not a process

2.¢

Research is not passive
3. %

Research is problem oriented
4. %
Is Section Default? : null

Question Id : 54947022109 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Intelligence is associated with academic achievement by most people. The various
theories of intelligence created by psychologists hold that there are two kinds of academic
intelligence-verbal and mathematical or logical. Intelligence is an inherited trait that impacts
individual behavior and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since. one
property of intelligence i1s analytical and reasoning skills. people with high intelligence quotient
will understand the problem at hand better than people with a low IQ. Many organizations
consider intelligence as an important criterion while recruiting. For instance in many
management schools, a lot of weightage is given to high IQ while admitting students or
recruiting faculty members. The qualities of intelligent people are high energy drive.
achievement and competitiveness. Very intelligent employees learn job — related skills and other
organizational practices quickly and organizations have to spend less time training them. People
with high imtelligence have good decision making ability due to their good analytical and
reasoning skills. With a high achievement drive, they are mostly very productive. As the saying
goes, ‘A wise enemy is better than a foolish’ friend:

Even with such a high IQ, very intelligent people may not always be very happy. The
high IQ makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with high intelligence quotient are often dissatisfied people.

Sub questions

Question Number : 15 Question Id : 54947022110 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the two kinds of academic intelligence defined by psychologists?

Options :

Mathematical and logical
1 ®

Logical and psychological
2. %

Verbal and logical
3.¢

Mathematical and social
4. %

Question Number : 16 Question Id : 54947022111 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the possible ill effects associated with high IQ people?
Options :

Mania and hallucination

Depression and hallucination



Bipolar disease

Anxiety and depression

Question Number : 17 Question Id : 54947022112 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a student stands first in the class, the general credit is given to:

Options :

Contacts
1. %

Intelligence
2.9

Hard work
3 %

Attractive features

4, %

Question Number : 18 Question Id : 54947022113 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Dissatisfaction is often witnessed in people with

Options :

Creative skills
1, *

High expectations
2. %

Good decision—making ability
3.¢¥

High education qualifications
4, %

Question Number : 19 Question Id : 54947022114 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High energy drive, achievements and competitiveness are valued during

Options :

Admission
1. %

Recruitment
2. %

Promotion



Admission and recruitment

Question Number : 20 Question Id : 54947022115 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Those who understand a problem in a short span of time will be people with

Options :
High IQ
1. ¢
- Low IQ
Average IQ
3%
Good IQ
4. %

Question Number : 21 Question Id : 54947022116 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another word for “Weightage’ is

Options :



Credit

1. ¥

Mass
2. %

Weight
3. #

Freedom

4. %
Is Section Default? : null

Question Number : 22 Question Id : 54947022117 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Synopsis of a research is

Options :

Summary of research

Blueprint of a research
2.¥

Extract of research



A plan of research
4.%

Question Number : 23 Question Id : 54947022118 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following objectives is not associated with teaching aids?

Options :
To present difficult concepts in simpler manner for students
1. ®
To make the students comparatively more active and dynamic
2. %
To make advertisements of attractive and miraculous events to students
3.
To determine the audio-visual aids by keeping mind individual differences in
the class
4. %

Question Number : 24 Question Id : 54947022119 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The first step of research is

Options :

selecting a problem
1. ®

searching a problem
2. %

finding a problem
3.

identifying a problem

4. %

Question Number : 25 Question Id : 54947022120 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not a method of data collection?
Options :

Interviews

Observations



Questionaries

Experiments
4.9

Question Number : 26 Question Id : 54947022121 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher conducted three experiments with 100 subjects each following uniform
design instead of one experiment with 300 subjects. This is known as

Options :

Validation
1.¢

Manipulation
2. %

Observation
3. %

Replication
4, %

Question Number : 27 Question Id : 54947022122 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework in which a research is conducted is called a

Options :

Synopsis of research
1. %

Research design
2.¢

Research hypothesis
3. %

Research Paradigm
4.%

Question Number : 28 Question Id : 54947022123 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is an identification of the quality of a research journal?
Options :

Impact Factor
1.v

h — index



g — index

110 — index

Question Number : 29 Question Id : 54947022124 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ethics in research 1s not related to

Options :
Scientific method
], %
Reliability
2. %
Self-interest
3.
Humanity
4. %

Question Number : 30 Question Id : 54947022125 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The objective of a research work can be written .

Options :
only in question form
1. %
only in statement form
2.¢
both question and standard form
3. %
in hypothetical form
4. %

Question Number : 31 Question Id : 54947022126 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Complete the series: 3C4. 7G5, 1216, 18R7, 25Y8,

Options :

32F9

3G9

Lad



32G9

Lad
Lad
o)
-1

Question Number : 32 Question Id : 54947022127 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code language, if CHECK = 30 and TIME = 47 then what is the code for
HOCKEY?

Options :

52
1. %

67
2.9

48
3. %

12
4, ®

Question Number : 33 Question Id : 54947022128 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ratio of the present ages of A and B is 5:6. Fifteen years ago. the ratio of their ages
was 7:9. Find the present age of A.

Options :

10
1. %

30
2. %

50

3.¢

65
4, #®

Question Number : 34 Question Id : 54947022129 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A shopkeeper losses 15% if an article is sold for Rs.102. What should be the selling
price of the article to gain 20%?
Options :

150

1. ®



144

2.9

138
3. %

132
4. %

Question Number : 35 Question Id : 54947022130 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a class, the average age of the students is 21 years. If their class teacher, aged 45
vears is also included, the average of the class would be 22 years. Find the number of
students in the class.

Options :
20
1. ®
23
2. ¢
24



-2
Lh

Question Number : 36 Question Id : 54947022131 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What sum of money amounts to 5800 in three years at 15% per annum with simple
interest?

Options :

3800
1. %

4000
2.9

4200
3. %

4600
4, %

Question Number : 37 Question Id : 54947022132 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Starting from his house, Krishna travels a distance of 8m towards North, he then turns
left and travels a distance of 6m, then travels 5m South and finally he travels 6m
towards the West to reach his office. What 1s the approximate distance between his
house and the office?

Options :
14m
1. %
12m
2. %
12.5m
3. ¢
14.5m
4, %

Question Number : 38 Question Id : 54947022133 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person can cover a certain distance in 8 hours at a speed of 50 kmph. At what speed
he must travel to cover the distance in 5 hours?

Options :



400 kmph

1. %

80 kmph
2. ¥

100 kmph
3. %

300 kmph
4.%

Question Number : 39 Question Id : 54947022134 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following groups of fraction are in ascending order?

Options :
8 57
% 11 8§ 10
7 5 8
108711



3.¢

| oo

[—Y
—

oc.'l th
= | =

-

oo | e

Question Number : 40 Question Id : 54947022135 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are mutually inconsistent?
Mostly poets are not egoistic

L
I1. Mostly poets are humble
I11. Some poets are egoistic
IV. Some poets are not non-egoistic
Options :
ILand IV
1. *
IT and 11T
2. %
I and IIT

3.¢



III and IV

Question Number : 41 Question Id : 54947022136 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Some teachers are not sincere” is an example for which category of proposition?

Options :

Particular affirmative

Particular negative

2.

Universal affirmative
3 %

Universal negative
4, %

Question Number : 42 Question Id : 54947022137 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements — one is labelled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A): Skill development is a key feature in every individual’s life.

Reason (R): An individual. who wants to get employed. needs to possess good
education only.

In this context of above two statements choose the correct option codes:

Options :

(A) 1s true, but (R) is false

1.
(A) 1s false. but (R) is true
2. %
Both (A) and (R) are true and (R) is the correct explanation of (A)
3. %
Both (A) and (R) are true and (R) is not the correct explanation of (A)
4, %
Is Section Default? : null

Question Id : 54947022138 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
From the data furnished in the following table, answer the questions 43-45. Area under
different crops over the years 2016-20 is in lakh hectares.

Year Mango Vegetables Flowers Total crop area
2016 53 72 1 187
2017 56 75 1 194
2018 58 78 2 202
2019 61 79 2 207
2020 63 79 2 209

Sub questions

Question Number : 43 Question Id : 54947022139 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following two years have registered the highest rate increase in total crop
area?

Options :

2017 and 2018

2016 and 2017



2017 and 2019

2018 and 2019

Question Number : 44 Question Id : 54947022140 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has recorded the highest rate of increase in crop area during
2016 to 20207

Options :

Mango

Vegetables

2. %

Flowers
3. %

None of these
4, %

Question Number : 45 Question Id : 54947022141 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year, area under mango has recorded the highest rate of growth?

Options :
2019
1. #
2017
2.9
2016
3. %
2018
4. ®
Is Section Default? : null

Question Id : 54947022142 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following pie chart carefully and answer the questions 46-49. It gives data on
number of students having specializations in different study branches.

Marketing
22%n

Sub questions

Question Number : 46 Question Id : 54947022143 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the total number of students having specialization in HR. Marketing and IT?

Options :

4640



4080

2. %

4400
3.¢

4260
4, %

Question Number : 47 Question Id : 54947022144 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of students having IB as specialization?

Options :

1520
1.v

1280
2. %

1120
3. %

1360



Question Number : 48 Question Id : 54947022145 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio of the students having Finance as specialization to students having HR
as specialization?

Options :

11:9
1. %

4.7
2. %

18:13
3. %

6:7
4. &

Question Number : 49 Question Id : 54947022146 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Students having IR as specialization forms approximately what percent of students
having HR specialization?

Options :

114
1. ¢



106

2. ®
76
3. %
87
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947022147 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement “most of the students are obedient’ 1s taken to be true, which one of the
following pair of statements can be claimed to be true?

A) All obedient persons are students

B) All students are obedient

C) Some students are obedient

D) Some students are not disobedient
Choose the correct codes from the options given below:

Options :

Aand B



B and C

2. %

Cand D
3.¢

Band D
4, %

Question Number : 51 Question Id : 54947022148 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements I and II followed by two conclusions (A) and (B).
Suppose if the statements are true, which of the following conclusions can logically
follow?
Statements:

I: Some flowers are red

II: Some flowers are blue
Conclusions:

A: Some flowers are neither red nor blue

B: Some flowers are both red and blue

Options :

only (A) follows



only (B) follows

2. %

both (A) and (B) follows
3. %

Neither (A) nor (B) follows
4.

Question Number : 52 Question Id : 54947022149 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At selling price of Rs 240, a person incurred a loss of 10%. To earn a profit of 10%,
what should be the selling price?

Options :
Rs 310
1. %
Rs 300
2. ®
Rs 285.50



Rs 293 .33
4.

Question Number : 53 Question Id : 54947022150 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Every woman is white and ‘not every woman is white’ comes under which domain
source of opposition

Options :

Contradictory
1.¢

Contrary
2. %

Sub-contrary
3. %

Sub alternation
4. %

Question Number : 54 Question Id : 54947022151 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mercury and leads are poisonous substances that contribute to




Options :

Noise exposure

1. %
Poor air quality
2. %
Water contamination
3. %
Skill pollution
4.

Question Number : 55 Question Id : 54947022152 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the binary equivalent of decimal number 48 is 110000, then the binary equivalent of
decimal number 51 is given by

Options :

110010

11011



110001

110100

Question Number : 56 Question Id : 54947022153 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents one billion characters?

Options :

Kilobyte
1. ®

Megabyte
2. %

Gigabyte
3.¢

Terabyte
4. %

Question Number : 57 Question Id : 54947022154 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Python is :

Options :
an operating system
1. ®
an application program
2. %
a compiler
3. %
a programming language
4.9

Question Number : 58 Question Id : 54947022155 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A description in conununication process is called

Options :

Interaction

Noise
2. %



Transgression

Feedback

Question Number : 59 Question Id : 54947022156 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an example of asynchronous medium?

Options :
Radio
1. ®
Film
2.8
Newspaper
3.9
Television
4. %

Question Number : 60 Question Id : 54947022157 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are priority areas in relation to the sustainable development
goals?

A) No poverty

B) Zero hunger

C) Reducing Urbanization

D) Peace, Justice and Strong institutions

Choose the correct answer from the options given below:

Options :

A, B,C
1. ®

AL D
2. ®

B, C.D
3. %

A, B. D
4.

Question Number : 61 Question Id : 54947022158 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the largest soil group in India?



Options :

Red soil
1. %
Black soil
2. %
Sandy soil
3.
Mountain soil
4, %

Question Number : 62 Question Id : 54947022159 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a waterborne disease?
Options :

Typhoid

Hepatitis



Cholera

Dengue
4.

Question Number : 63 Question Id : 54947022160 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the clinical trial in which blood is transferred from recovered COVID-19 patients
to Corona virus patients who is in critical condition.

Options :
Hydroxychloroquine
1 ®
Soidarity
2. %
Remdesivir
3. %
Plasma therapy
4.9

Question Number : 64 Question Id : 54947022161 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first case of noval coronavirus was identified in

Options :

Beijing
1. *

Wuhan
2.¢

Tianjin
3. %

Shanghai
4.%

Question Number : 65 Question Id : 54947022162 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following sources of energy has maximum potential in India?
Options :

Solar energy
1. ¢



Wind energy

2. %

Tidal energy
3. %

Ocean thermal energy
4. %

Question Number : 66 Question Id : 54947022163 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is regarded as an immediate need of an educational
organization?

Options :

To ensure self-employment capabilities in the students
1.¢

To enrich the knowledge of future generation
2. %

To focus on Employment opportunities



To make provision of maximum service opportunities

Question Number : 67 Question Id : 54947022164 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scheme “Unnat Bharat Abhiyan™ aims to

Options :
Increase number of colleges in India
1. %
Increase quality in Higher education
2. %
Link higher educational institutions in the country with at least five villages
3.
Increase strength of students in colleges in India
4.%

Question Number : 68 Question Id : 54947022165 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following are the goals of Higher education in India?
A) Access

B) Equity

C) Quality and Excellence

D) Relevance

E) Value based education

F) Compulsory and free education

Select the correct answer from the code given below:

Options :

A B EandF

ABC DandFE

2.9

ABCDEandF
3, %

A BandE
4, %

Question Number : 69 Question Id : 54947022166 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following 1s NOT a constitutional body?

Options :
NITI Aayog
1. v
Election comimission
2. %
Finance commission
3 %
Union Public Service Commission
4. %

Question Number : 70 Question Id : 54947022167 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is ABC as per NEP-2020?
Options :

Academic Bank of Credit
1. ¢



Academic Basic Certificate

2. %

Annual Basic Certificate
3. %

Annual Bank of Credit
4, #

Linguistics

Section Id : 549470312
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 54947022168 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For how many purposes Language is used

Options :

Two purposes
1. #



Three purposes
2.¢

One purposes
3. %

Five purposes
4. %

Question Number : 72 Question Id : 54947022169 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Language is the medium m which we live and move and have about fifty percent
of our being™ — who stated.

Options :

Aldous Huxley

Max Muller
2. %
~ Otto Jesperson
3 %
Michael Breal
4, %

Question Number : 73 Question Id : 54947022170 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Phonology deals with
Options :

The changes and the development of meaning

1. ®
The Manner in which the words are arranged in a sentence
2. %
The word — building by the union of the several constituent parts
3. %
Sounds and their changes from one period of a language to another
4. %

Question Number : 74 Question Id : 54947022171 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many languages are found in the world?
Options :
About 1000

2000

3000 langunages
3. ¢ e



, « Above 5000

Question Number : 75 Question Id : 54947022172 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the date of art of writing according to the scholars who studied the origin of
language

Options :

6500 B.C
10000 B.C

1000 A.D

3. %

3500 B.C -2900 B.C
4. &

Question Number : 76 Question Id : 54947022173 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the area of linguistics called Psycho-Linguistics?
Options :

The study of what human beings acquire — the grammar of language
1%



The study of how they acquired this knowledge

2.

The study of meaning
3. %

The study of structure of sentence
4.%

Question Number : 77 Question Id : 54947022174 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A dialect spoken in a geographical area is known as
Options :

Regional dialect
1. v

Sociolects
2. %

, » Prestige dialect

Dialectology
4. %

Question Number : 78 Question Id : 54947022175 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



good + ness = goodness is the type of language
Options :

- Regular fusion

Agglutination
2.4 TEE

Irregular fusion

Symbolism

Question Number : 79 Question Id : 54947022176 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who advocated the ‘ding-dong” theory regarding the origin of language

Options :
Max Muller
1. v

. Sir Richard Paget
2.

3 % Otto Jesperson



Whitny

Question Number : 80 Question Id : 54947022177 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Morphologically languages are classified mto
Options :
Two main types

1. %

Three main types

Four main types
3. %

Ten main types

Question Number : 81 Question Id : 54947022178 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example belonging to Isolating group is
Options :

v Chinese Language



Japanese

Sanskrit

~ Greek
4. %

Question Number : 82 Question Id : 54947022179 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the family of Languages which 1s having great usage of Literary forms
Options :

Indo European family
1. ¥

American Family
2. %

Dravidian Family

Caucasian family
4. %

Question Number : 83 Question Id : 54947022180 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



How many languages are present in Bantu family

Options :
1. ¢
2. B 2?

1920

1640

Question Number : 84 Question Id : 54947022181 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the language family which consists one thousand languages?

Options :

Indo European

) Chinese family

Bantu family

American family
4. ¢



Question Number : 85 Question Id : 54947022182 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Reduplication of roots is the characteristic of languages of family
Options :

| » Dravidian

Indo European
2.¥

Bantu

Aerican

Question Number : 86 Question Id : 54947022183 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When and who used the word “Phoneme™ for the first time in the Linguistics?

Options :
Prof. Bloomu field 1850 A.D

Burnor Block — 1900 A.D



Prof. Hy vet — 1876 A.D
3.¢¥

o % Prof S. Fisher — 1905 A.D

Question Number : 87 Question Id : 54947022184 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An effective user of a language needs how many types of ability?
Options :
Two types

1. ¢

Four types

2. %

One type

3. %

Ten types

Question Number : 88 Question Id : 54947022185 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What 1s Graphology?

Options :



The study of Lexical items

The study of meaning in all its aspects

The study of all conventions used in representing speech in writing

The study of the methods in language teaching

Question Number : 89 Question Id : 54947022186 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The anthropological linguistics 1s related to the disciplines
Options :
Pragmatics
1.v

Translation and interpretation
2. %

Philology

3. %

Semantics



Question Number : 90 Question Id : 54947022187 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Articulatory phonetics deals with
Options :

With sound waves and the transmission of sounds

The production of sounds by the organs of speech
2.¥

The reception and perception of sounds and hearing.
3. %

With the instruments of hearing
4.%

Question Number : 91 Question Id : 54947022188 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In how many ways the speech sounds are produced
Options :
Three ways
1.¢

Five ways



3 % Two ways

Four ways
4, %

Question Number : 92 Question Id : 54947022189 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
What is the position of pronunciation of °E ° (Aa)

Options :

Kantha Nala
1.9

[abial

Dental

Hard Palatal

Question Number : 93 Question Id : 54947022190 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the positions of sound production of the vowel “u ™

Options :



Glottal

Labial
2.

Palatal
3. %

Dental

Question Number : 94 Question Id : 54947022191 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A combination of a vowel and a glide is known
Options :

Cerebrals

Diphthong
2.¢

Consonant
3, %

% Cluster



Question Number : 95 Question Id : 54947022192 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The word “unlikely” has how many morphemes?
Options :

v Three

) % Two

One

3. %

4 n NO

Question Number : 96 Question Id : 54947022193 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example for two free morphemes and one bound is

Options :

Girl friend

Mother-in-Law



Tax-collector
3.9

Foot ball player

Question Number : 97 Question Id : 54947022194 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is Reduplication?
Options :

The repetition of identical forms
1.¢

The elimination of medial vowel

The loss of a final sound or syllable

Is a change in the order of the elements of a morpheme

Question Number : 98 Question Id : 54947022195 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Nominal morphology deals with the formation of



Options :

Nouns which have three main characteristics — Gender. Number and case
1. v

Nouns which have two main characteristics — Gender. case

2. %
Nouns which have Gender. Case. Number stems
3 %
Nouns which have Gender
4.

Question Number : 99 Question Id : 54947022196 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What is derivational affix
Options :

Those that follow the base

That 1s used to derive words
2.%

That 1s used to mflect words



That precedes the base

Question Number : 100 Question Id : 54947022197 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The word “simply’ is an example of
Options :

Dissimilation

Assimilation
2. %

v Haplology

Aphaeresis
4.%

Question Number : 101 Question Id : 54947022198 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Fourteen + night=fortnight” is the example of
Options :

Prothesis



- Apocope

Metathesis
3. %

Syncope
4. &

Question Number : 102 Question Id : 54947022199 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Adding a sound at the end of a word” is known as
Options :
| @ Paragogue
Prothesis

Apocope

Anaptyxis
4. %

Question Number : 103 Question Id : 54947022200 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



An example for metathesis is

Options :
Eke name - nickname
1. %
Agens — against
2. Qg [ [
Hross — horse
Alone — Lone
4. %

Question Number : 104 Question Id : 54947022201 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In English = evil-minded™ is an example for
Options :

Epithetised compound
1.v

Non-Epithetised compound
2. %

Subordinating compound
3. %



Co-ordinating compound
4. %

Question Number : 105 Question Id : 54947022202 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Satam’ is an example for compound
Options :
Determinative

1. %

Epithetised

2. %

- Obscure

Copulative

Question Number : 106 Question Id : 54947022203 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to yaska, the number of words (Padas) classified
Options :

Four types
1.

Two types

2. %



Three types

3. %

One only

Question Number : 107 Question Id : 54947022204 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who advocated “Secretion theory’
Options :

L Jesperson

Bopp

2. %

Brugmann
3. %

, »  Maxmuller

Question Number : 108 Question Id : 54947022205 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indeclinable is formed by means of the suffix

Options :



tva
2.

Ta

t1

Question Number : 109 Question Id : 54947022206 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The alpha — movement rule was mitiated by
Options :

Jesperson

L v Chomsky

Macdonell

Griffith



Question Number : 110 Question Id : 54947022207 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Polysemy is the name given by linguist

Options :
Breal

Bloomfield

Ullmann

Macdonell

Question Number : 111 Question Id : 54947022208 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The example for Homophone is

Options :
|« DBear
Meat
Sitala



Smoke

Question Number : 112 Question Id : 54947022209 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is antonym called
Options :

It is progress of civilization

Basing on the context

2. %

Is a word which means the opposite of another
3.

Extended meaning
4. %

Question Number : 113 Question Id : 54947022210 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Complete reduplication occurs in this
Options :

Vritti Vidya



Attadugu

2. %
Mula Mula

3.¢
Apposoppo

4. %

Question Number : 114 Question Id : 54947022211 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In how many heads tucker has classified the semantic changes
Options :

|« Three

, » Four

~ Two
3. %

4 % Five

Question Number : 115 Question Id : 54947022212 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



An example for transference of meaning is
Options :

, = Book

Meat
2. %

Taila

3. %

Asura
4, &

Question Number : 116 Question Id : 54947022213 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the example of Grimms Law

Options :

Bhero - bear
1.

Septon - seven
2. %

. Tistho — Tisthamui
3.



Ghrdhio - grdhvami

Question Number : 117 Question Id : 54947022214 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who discovered some exceptions to Grimm’s Law
Options :

Grassman

Thomson

Verner

Breal
4, %

Question Number : 118 Question Id : 54947022215 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many communication postulates are given by Barnlund
Options :

SIiX
1.¢



Three

Nine

Two

Question Number : 119 Question Id : 54947022216 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Labov has argued on sociolinguistic methods thus
Options :

Children do not do well at school

The concept of verbal deprivation has no basis in social reality
2.¥

Information about the subject needed
3. %

The family type is typically positional
4. %

Question Number : 120 Question Id : 54947022217 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Panini was the author of vyakarana called
Options :

|« Astathyayi

Mahabhasya

2. ®

Vakya Padiya

3. %

Siddhanta Koumudi

Question Number : 121 Question Id : 54947022218 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Indian tradition the theory of sphota is given by
Options :

| » Bharata

Bhartrhari

, » DBharavi

Nagesa Bhatta



Question Number : 122 Question Id : 54947022219 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which language group. Dravidian Languages are existing
Options :

Isolating

Agglutinating

Inflexional

Indo European

Question Number : 123 Question Id : 54947022220 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which family of languages. the roots are mono-syllabic?
Options :

v Indo European

, » Dravidian



, » Bantu

Semitic

Question Number : 124 Question Id : 54947022221 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is Rhyme?
Options :
Transition from one word to the next
1. ®

The intensity given to a syllable
2. %

A harmonical succession of sounds consistent of musical flow of language
3. %

When pitch 1s used to distinguish between different words.
4.9

Question Number : 125 Question Id : 54947022222 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the language family which has been mostly studied after Indo European

Options :



Hamito — semitic

1. v

Hittite

Aerican
3 %

Dravidian
4, %

Question Number : 126 Question Id : 54947022223 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who clarified the history of individual words
Options :
Bloomifield

1. %
Grimm

Gillieron
3.¢

Sir William jones



Question Number : 127 Question Id : 54947022224 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is analogy
Options :

This is a process by which morphs. linguistic patterns are modified

1. ¥
Phonological systems are modified
2.
Semantic systems are included
3.
. Grammatical extensions are observed
4.

Question Number : 128 Question Id : 54947022225 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the goal of Teaching
Options :
Teaching a language is to open up its resources
1.¢

To live in the society
2. %



. To have elevated life in the contemporary world
3.

To have equal status
4.%

Question Number : 129 Question Id : 54947022226 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s LSRW

Options :
Latin, Spanish. Russian. Western language
1. %
The four language skills — Listening — Speaking — Reading — Writing
2.¢
Listening
Speaking
Reproducing
3 % Wrong correction
Loving language, singing, Recording, wording
4. %

Question Number : 130 Question Id : 54947022227 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The psycho — Generative method — Explain
Options :

Reading Ability

1. ®
Group discussion — Activity
2. %
The method in which grammatical structures are taught
3. ¢
. Speaking skills are developed
4.

Question Number : 131 Question Id : 54947022228 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Transactional Engineering — Explain

Options :

In this talk is the subject matter of a language
1. ¢

Audio visual systems are used
2. %



Self — faced programmes

In the time of exposure is taken care

Question Number : 132 Question Id : 54947022229 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s translation?
Options :

It is stylistics of language

1. ®
Philosophical Idealism
2. %
Romantic postulates
3. %
Transfer of text from a source language in to a text — in target language
4.9

Question Number : 133 Question Id : 54947022230 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Pragmatic theory — Explain
Options :

Pragmatic theory mainly rest on the premise that style is persuasion
1. v

Study of style poetry

2. 8

Organic theory

Communication at will

Question Number : 134 Question Id : 54947022231 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How style 1s regarded?
Options :
Determination

1. ®

A characteristic manner of expression in prose or verse
2. ¢



Psychological attitude

Writing passion

Question Number : 135 Question Id : 54947022232 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rhetorician — Ananda Vardhana expressed

Options :
. Alankara — Upama
1 ®
Dhvani — Suggestive sense
2.¢
Auchitya
3. %
4 % Rasa

Question Number : 136 Question Id : 54947022233 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the role of Alamkara field in stylistics

Options :



To explain the sense

To give poetic beauty
2. %

To bring out the hidden meaning ( Slesa) ....)
3.¢

To give joy to the listener

Question Number : 137 Question Id : 54947022234 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kuntaka has composed work on — stylistics
Options :

v Vakrokti

Dhavani
2. %
Rasa
3, %
Guna



Question Number : 138 Question Id : 54947022235 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first English — English dictionary was compiled by whom and when?

Options :
Lord chesterfield — 1754

Tom Mc Arthur 1850

2. %

Robert Cowdrey — 1604
3.

Syr Thomas Eliot - 1538
4.%

Question Number : 139 Question Id : 54947022236 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A Dictionary .... Is an mventory of the language — who told -
Options :

v Trench

Johnson



Garvin

, » TomMc Arthur

Question Number : 140 Question Id : 54947022237 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who programmed a computer that plays an excellent game of checkers
Options :

L& - Rose

o B Jakobson

2 o H A L. Samuel

L T Garvin



